





$$f(x) = \frac{x^2}{x^2 + 3x + 2}$$

$$x + 1 = 0$$

$$f(x) = \frac{x^2}{x^2 + 3x + 2}$$

$$x + 1 = 0$$

$$f(x + 2)(x + 1)$$

$$x = -1$$

$$f(x) = \frac{2x^2}{x^2} + \frac{2x - 12}{x^2} = \frac{2(x^2 - x - 6)}{(x - 3)(x^2 + 3x + 9)}$$

$$= \frac{2(x - 3)(x + 2)}{(x - 3)(x^2 + 3x + 9)}$$

$$= \frac{2(x - 3)(x + 2)}{(x - 3)(x^2 + 3x + 9)}$$

$$= \frac{2(x - 3)(x + 2)}{(x - 3)(x^2 + 3x + 9)}$$

$$Hole = 4 = \frac{x - 3}{x^2} = \frac{2(1)}{(x - 3)(x^2 + 3x + 9)}$$

$$Hole = 4 = \frac{x - 3}{x^2} = \frac{2(1)}{(x - 3)(x^2 + 3x + 9)}$$

$$Hole = 4 = \frac{x - 3}{x^2} = \frac{2(1)}{(x - 3)(x^2 + 3x + 9)}$$

$$Hole = \frac{-3}{2(1)} = \frac{2(1)}{x^2}$$

$$Honz = 0$$

$$Honz = 0$$

$$H = 0$$

(obligne) Slant Asymptotes occur when highest power in numerator is one greater than highest power in denom. y= y = mx + b2x-1 + 0x +7 \* Find using long division y=2x+1 +7